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200 Mlel==¢ 29,921 27,365 2,556
210 & A2+ 4,483 6,900 N2, 417
216 Ol Xt==¢ 4,483 6,900 N2, 417
216-03 JIEFOI Kt==2 4,483 6,900 N2, 417
< KNS BHMOBAE Y > 4,483 6,900 N2, 417
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222 A= 14,480 10,505 3,975
222-01 =MA L= 14,480 10,505 3,975
< NSZHOHAE Dt > 14,480 10,505 3,975
O +EIMH SN =HHY0S 14,480,002 14,480
224 M= 10,958 9,960 998
224-03 JIEte| HE Y = 10,958 9,960 998
< NS ZHOHE > 10,958 9,960 998
O 28s Heiz 10,958
— YAENY SaHUF XY 2R (20%)
10,958,002 10,958
500 Ex= 1,533,020 1,672,245 A 139,225
510 2VLHEIS 1,533,020 1,672,245 £139,225
511 =208x3S 1,533,020 1,672,245 AN139,225
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— a2 XY 2e 105,000,000 105,000
— HAFXY OtsSot+=E w2yl 43,830,000 43,830
— HaFX49 OiSote== Jl=dH 19,362,000& 19,362
— IS 28 AlH = ~EEHA 75,000,000 75,000




